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g NostEES
el BHESE M2l EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
—29, ¥3t 5 21,8002 10 218
OmPIE 28%JI= X 5,000
—X&EHJI= 100,000&+20& 2,000
—e, ALHDI= 150,000& «20& 3,000
O%ARZHE LQE 7Y
170,000& *35 510
02 S3=gl 7,600 7,600 0
OSoHIE#I(EE) HHMABES
1,000,000 *1CH 1,000
OR0IEI#II(ER) SXI - 221
2,000,000 *1CH 2,000
O=EHAZEED| =2l
100,000& *1CH*12] 100
OOIAIZXl 2H0I5E D] =2
100,000 »1CH*32] 300
OAZ=EI| #cl 100, 000& »2LH*22] 400
O&sSEFEI| ==l 100,000& » 1CH*22] 200
OB NEHs e gl & =A==/l
300,000 * 1204 3,600
202 O] 7,230 8,400 AT1,170
01 201 7,230 8,400 A1,170
OBANE ALEF 2H0MH|
5,550,000& 5,550
Ostd2a41) Bl
20,0002 *72]* 1204 & 1,680
206 =4I 985 985
01 M=4l 985 985
OH<=HEZZA Y 2
1,500 «50H 75
OH+=28=3A ZERE 2
10,0002 *40H 400
Oy MHd s 7Y 510
—ANETHHE (L) 150,000 & *12rA 150
—NEMFE () 10,0002 +20H 200
—0E= 10,0002 * 167K 160
301 Et2 &= 1,400 2,100 AT00
11 HAIMHIXI RS 550 1,100 AB50
ozt tsdd 0L AH2d
10,0002 x2%4 102 200
OBAYE DO S AHIPAS
70,0003 #52 350
14 J|EtE2a=S 850 1,000 A150
Il EHEH M Ba=
850,000 850
OISR SHHE ole - ZAIASE (FEEX) 150,000 150,000 0
s 75,000
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ME: GEHES
el BHESE M2l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 75,000
101 @1A4H| 131,890 131,390 500
[ 65,945
Al 65,945
04 JIZtN2Z2XNSE 131,890 131,390 500
ODIANIEXl SHHE ZAIZ 212H] 130,890
—JlEs 2,068,000 x5~ 11& 113,740
s 56,870
Al 56,870
— %X 80,0002 x5& 10 4,000
= 2,000
Al 2,000
—=28= 2,630,000& x6H 13,180
= 6,575
Al 6,575
ODINIBIXl SYHisZAIE L=t
200,000 +5& 1,000
fas 500
Al 500
201 etz 3| 18,110 18,610 A500
[ 9,055
Al 9,09
01 At22t2lt] 15,250 15,750 A500
OAI2ESHI 1,000,000 *14] 1,000
= 500
Al 500
OXt&r& iyl 1,250,000 «1CH* 1100 & 13,750
= 6.875
Al 6,875
OUIMZHAI SHHHE HZZAE 2SES,
ADE U I 2L
500,000 *14] 500
[ 250
Al 250
2 222 2,860 2,860 0
O 2FEH 2 |X=2/)
260,000 x1CH* 11043 2,860
= 1,430
Al 1,430
A8 ARE AL X1 XE A 245,700 0 245,700
= 136,500
Al 109,200
402 2I2E X201 & 245,700 0 245,700
= 136,500
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el iESE NFac EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 109,200
02 QI XHE AL E R (01X THE) 245,700 0 245,700
OaZAEE 2XAE EXXA
245,700,000 245,700
= 136,500
Al 109,200
IIAEEI(GHP) A X IXI& At 85,140 0 85,140
= 47,300
Al 37,840
402 QIF X201 & 85,140 0 85,140
= 47,300
Al 37,840
02 QI RH2AIE 2R (0IMTHE) 85,140 0 85,140
ONASHEI(GP) M2ZAIY EXIXI
85,140,000 85,140
= 47,300
Al 37,840
St JHRE LioEE =4 12,374,573 20,403,368 /8,028,795
= 5,446,623
== 1,014,565
Al 5,913,385
toletd2tel 12,374,573 20,403,368 A8,028,7%
= 5,446,623
< 1,014,565
Al 5,913,385
=gzt tHsolet 25 131,052 64,636 66,416
101 @124H| 38,602 44,816 N6,214
M ORIMZZ2NSE S 38,602 44,816 06,214
OfH=3AE 2e 22| 38,602
—QIA4H| 34,698,000& 34,698
—4UES 3,904,000 3,904
201 et 3| 43,000 10,400 32,600
01 At22t2l] 41,000 8,000 33,000
OBaxsE & 24014 25 2
1,000,000 1,000
O2&tA BEA Ml Ml M3K 2SHIS 40,000
—2023 2a0tA HHEE BHIM 85
20,000,000 20,000
—2024 20tA HHEE MIAEM HS
20,000,000 20,000
2 s3=234l 2,000 2,400 2400
OOIZOI(ICLEl) 3REAl RS2
2,000,000& 2,000
202 04dl 5,550 6,720 1,170
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chel: ez 2el (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 5,550 6,720 A1,170
OJIZ2HsisS SRFA0Y|
5,550,0002! 5,550
206 T2l 2,700 2,700
01 b 2,700 2,700
Osipi=giAS XOBE U AQE 79
67,5002 x4+ 102 2,700
207 ARl 40,000 40,000
01 HESHI 40,000 40,000
OSSR M TS 40,000
—208 SATA BB BHA T4
20,000,000& 20,000
—2024 2EtA HHEE SEHEN Jd
20,000,000& 20,000
301 22N = 1,200 1,200
11 AALEEIXIRE S 1,200 1,200
OBASEATI}t S BASE 2& MOIL
S0 BA AYPY
40,0003 10«34 1,200
HIAHRE AIEE 2a0tA AH AEE 76,000 94,000 18,000
307 elztol & 76,000 94,000 18,000
02 2IZHBYAIHE & 22,000 44,000 /22,000
Ol &8 UWESHI Argll IIC’( a
JtA ALE TH) 22,000,000& 22,000
03 YIAHHEE 22X 50,000 50,000 0
OoZeI= &8 UWERA 244l X
50,000,000 50,000
04 CIZHHAMAIS 2 X 4,000 0 4,000
OFEot=2 & At 4,000,000 4,000
BASEEAEN(MUX) I+ QHEIE X2 240,000 230,000 10,000
= 120,000
Al 120,000
301 LEetE2 N = 240,000 230,000 10,000
= 120,000
Al 120,000
14 JIEtE2 &t 240,000 230,000 10,000
O2a0tA 2= EASHIEAEX (UUHXI)
QIMIEIE MS 240,000,000 240,000
= 120,000
Al 120,000
BASEEAEN(NHSA) AMEE XIS 20,000 24,920 24,920
= 10,000
Al 10,000
301 EtE2 NS 20,000 24,920 N\4,920
= 10,000
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chel: ez 2el (SH9 H2)
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Al 10,000
14 0Bt 243 20,000 24,920 A4,920
O2a0tA 2= ISt H$HAEQIER o1l
SE=EONI= 20,000,000& 20,000
= 10,000
Al 10,000
HIISEX 2ESAY 2,912,000 6,762,100 A3,850,100
= 920,000
== 389,000
Al 1,603,000
402 2I2E X201 & 2,912,000 6,762,100 A3,850,100
= 920,000
= 389,000
Al 1,603,000
02 RIENZASEZ(0IETHR) 2,912,000 6,762,100 A3,850,100
OXIIsENSA 25 A&
2,912,000,000& 2,912,000
= 920,000
= 389,000
Al 1,603,000
Mt EX 25 At 3,749,500 4,483,000 AT733,500
= 2,123,000
= 289,500
Al 1,337,000
402 2I2FX=01 & 3,749,500 4,483,000 AT733,500
= 2,123,000
= 289,500
Al 1,337,000
02 QI A2 AL E R (0IHTHE) 3,749,500 4,483,000 AT733,500
OdI| Bt 22 At
19,427,460 *193CH 3,749,500
= 2,123,000
= 289,500
Al 1,337,000
HII0IEX 2ESAE 115,200 143,360 A\28,160
= 48,000
= 19,200
Al 48,000
402 QI2F X201 & 115,200 143,360 A28,160
= 48,000
< 19,200
Al 48,000
02 QI X2 AL EE(OIHTHE) 115,200 143,360 N\28,160
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O&II0IER 25X
1,920,000 *60CH 115,200
= 48,000
[ 19,200
Al 48,000
HIIHA EgAY 726,000 1,452,000 A726,000
= 420,000
[ 126,000
Al 180,000
402 QI2F X201 & 726,000 1,452,000 726,000
= 420,000
s 126,000
Al 180,000
02 QI EASEZ(0IETHR) 726,000 1,452,000 AT726,000
O&IIHA 2YHl X 726,000,000 726,000
= 420,000
S 126,000
Al 180,000
JelRuc|el S8 olZet 22 & 2L 291,000 465,000 A174,000
201 2= 45,000 0 45,000
01 At22t2lt] 15,000 0 15,000
Osddoigel 22 g2= MA
10,0002 *500% 5,000
O&IINSA SHEFS SHHE HIH
10,000,000 10,000
02 S3=gHl 30,000 0 30,000
O&IIXSA SHELH| &I|etM 2e| T &t
125,000& x2004 2% 123 30,000
401 Al HIZL S 0HYI 181,000 420,000 A\239,000
01 Al&HI 181,000 420,000 239,000
OISt XS Y
600,000 5074 A 30,000
O&IINSAt SHEH AIE2=4|
600,000 %107 | 6,000
OIINSH X £X(S8)
40,000,000(=25)*37145,000,000( 2= ) +57|
145,000
402 QI2F X201 & 65,000 45,000 20,000
01 QI X2 AL E A (KHMITHE) 65,000 45,000 20,000
OISR 2£FHI| EXXNA(HISS)
1,300,000& 507 65,000
01210l SSXtE2l LPGRH &k XIZ ALY 25,000 105,000 80,000
= 12,500
Al 12,500
402 2I2FXH=201 & 25,000 105,000 80,000




2A:
X XH -
o e

=aak

* HIRAIY -

=
0x
Jo

Ofl &F2H

HMEE
Ofl &k2h

=}

12,500
12,500

o >

FEAFIE R (OIE )

| SSIXte LPGRH &&h XIZ A

5,000,000 +5CH

H

=

25,000

25,000
12,500
12,500

105,000

A80,000

b BHSOtA HZANY

hall

hoH

3,267,791
1,664,823

131,865
1,471,103

5,278,578

/2,010,787

6,345

10,000

A3,655

HA20E 242
4,

500&+1,410CH

6,345

6,345

10,000

A3,655

Mo

3,261,446
1,664,823

131,865
1,464,758

5,268,578

A2,007,132

2,637,300,000&

11,000,000 = 1CH

16,500,000 +20CH

3,261,446
3,258,800

2,637,300
1,318,650

131,865
1,186,785

280,500
140,250
140,250

11,000
6,600
4,400

330,000
198,000
132,000

2,646
1,323
1,323

5,268,578

A2,007,132

58,150

38,350

19,800

15,860

15,860

2,000

2,000
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chel: ez 2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OUiEIIL 62X 2dMer & NSl
Xl OHH= M 2,000,000& 2,000
02 S3=gHl 13,860 13,860 0
OWEItA 5SBRHE SAIAE Salll S
13,860,000& 13,860
403 AXIEHHSAH=201H 42,290 22,490 19,800
02 S 2SS0t et =& 2 €A H| 42,290 22,490 19,800
OUHEIIA 5SSRE SEAAE 2E 2L
BI(SE2HMAH S) 25,010,000 25,010
OUiEIIL 5SSXHE HEALE FA 2
ul 17,280,000& 17,280
NS HEIJEA K= 4,060 5,060 21,000
201 fer= 3| 2,060 2,060 0
01 AFS2t2ltl 2,060 2,060 0
OXSA BHEIA SFHI| E&BA === 660
—CO/HC/ SO UL E/N0 ZED|
260,000 260
—HA=EEI 250,000 250
—H=2H 150,000 150
OXSxt tHEMNA 5FI| 223 7 (2H,
A, dIM ) 500,000 500
OXSxt HHEtA FEI| ==/l
400,000 400
OXNSAt BHEJHA B 2t S5 H%
140,000 140
OXSAt tHEJtA & 2 2258 7Y
150,000 150
OMSAt S3d Mtk e =% S M&
210,000 210
401 AIEHIX R0 2,000 3,000 21,000
01 A28l 2,000 3,000 21,000
OXsxt Sad™ MK et wil 2 2
= 2,000,000& 2,000
OIMIZHAI Lo Mg =&l 49,940 60,100 10,160
201 =3 3,440 2,000 1,440
01 AtR2t2lt] 2,000 2,000 0
O 822 M= 2,000,000 2,000
2 s5=4g4l 1,440 0 1,440
OUIMEX desS &) & SHR=
30,0003 40 A+ 122 1,440
403 MR EHSAHE01H 46,500 58,100 A 11,600
02 ST 2SOt =2 X A E A I 46,500 58,100 11,600
OgRd UM A2 e AFEH
46,500,000 46,500
C2H 2AEA 210,000 210,000 0




M 23
3 9 JiRe toletE &4
chel: ez 2el EER=E)
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402 QI2F X201 & 210,000 210,000
03 2IZH2AETAI I 210,000 210,000
O=2¢ 2AHA(HYUS)
45,000,000& 45,000
Oc2z¢ 2XHA(S0HS)
50,000,000 50,000
O=2¢ SHDI(ZLS,S0tS . HaS)
115,000,000 115,000
Holeta=ay &= 235,000 30,000 205,000
= 117,500
Al 117,500
401 AIEHIX R0 235,000 30,000 205,000
= 117,500
Al 117,500
01 AlZ2H| 235,000 30,000 205,000
OoHJIeHd=8y ZHnM(ZLSEEL)
195,000,000& 195,000
= 97,500
Al 97,500
OIs=5582 X 40,000,000 40,000
= 20,000
Al 20,000
Hole3=3y ael 24 143,080 145,680 22,600
s 54,000
Al 89,080
201 et 3| 35,080 37,680 A2,600
01 At2t2l] 19,240 27,240 28,000
OI=84 28 A28 72¢
1,000,000 1,000
oIy Ns=HIII| BEZA =2
6,400,000 6,400
OOIMZHA AIZIHFI| S=BA =8
6,200,000 6,200
OINAETI| 2T 248
880,000%37H A 2,640
ORESM)| 2 BYRYN DY 442
3,000,000 3,000
02 S3=gHl 15,840 10,440 5,400
otI=84 &ks
300,000 x40 =% 123 14,400
OUIISHA SQBHINAEY B
120,000% 104 A+ 122 1,440
402 QIF X201 & 108,000 108,000 0
= 54,000
Al 54,000
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chel: ez 2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 2IZHRAETAIHHI 108,000 108,000 0
OtI=84 29 - 2l
18,000, 000%67H A 108,000
= 54,000
Al 54,000
IR T2 B ZAANAE 29 68,100 76,220 A8,120
201 et 3| 5,000 5,000 0
02 s3=gHl 5,000 5,000 0
O=0tte OIS ZAINAE MIIRs S
2,000,000 2,000
O=JHE HIOIEEZAIAIAE S/W S22l
3,000,000& 3,000
206 M=l 8,000 10,000 /2,000
01 M=4l 8,000 10,000 A2,000
O=Jhete DI EZAINAY A2 7Y
25,000+85+40 =& D || 8,000
401 AIEHIZ R HYI 31,100 40,100 29,000
01 Al&H| 31,100 40,100 29,000
O=0tatet OIS ZBZAAIAS (XIS A
& S) =2l 2,000,000%59H 2 10,000
O=Jtetet HIIZHEZBAAAE dIA Wi 21,100
—&stea [ A wH
4,000,000 4,000
—2LI0t FHIII dIA wH
4,000,000 4,000
—VOCEEJ1D| A WX 6,000,000 6,000
—PWR.5=ED1D| 2 uH 6,100,000 6,100
— IS A WA
500, 000%27H 2 1,000
402 BIZtAH=01A 24,000 21,120 2,880
03 2IZHRAETAIHHI 24,000 21,120 2,880
O=Jhtet OIS EZBAAAE 29 - 2
af 125,000 160 A 123 24,000
SIHLY 238 20,700 7,600 13,100
201 er23y| 20,200 6,600 13,600
02 S3=gHl 20,200 6,600 13,600
OstZdgs MIL StRs
850,000& * 128 10,200
Ostadae sXl2ell 10,000,000 10,000
206 M=l 500 1,000 A500
01 MHZH| 500 1,000 A500
OB ARE FAU(HE 22D 8)
10,0003 *10H+53 500
HEE MsA 229 EXAE At 18,000 215,000 A197,000
= 10,800
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SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 7,200
402 QI X201 A 18,000 215,000 A197,000
= 10,800
Al 7,200
02 QIZIXEAMEEE(OIXTHE) 18,000 215,000 197,000
ONEE =4 2P| 23 AL (HASE)
600,000 *30CH 18,000
= 10,800
Al 7,200
MIE FHAANE ZEE BLH B= A 8,000 4,000 4,000
& 2,400
Al 5,600
402 Q12 X201 A 8,000 4,000 4,000
T 2,400
Al 5,600
02 QIZIXEAEEE(OIMTHS) 8,000 4,000 4,000
OFoE Fed 2UY 22N
800,000 *10CH 8,000
T 2,400
Al 5,600
Mete s SASEIEN S#i2g 6,000 0 6,000
& 2,600
Al 3,400
301 LPENZ 6,000 0 6,000
T 2,600
Al 3,400
14 J|EtE A2 6,000 0 6,000
ONYs SHASEIEEN &g
6,000,000& 6,000
= 2,600
Al 3,400
MWRe =2&ZE 24 8,638,240 12,539,910 A3,901,670
= 4,157,000
& 3,854,000
Al 627,240
R R el 8,591,240 12,491,910 3,900,670
= 4,157,000
= 3,854,000
Al 580,240
ot 2L 26,140 25,840 300
201 LB-2AY| 26,140 25,840 300
01 AtR2telt] 23,840 23,840 0
Ox=&BAMN (Ot %) =22
183,000%25H A *43| 18,300




M 23
M RE +TY XM
el sEEE 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O+ZA(EHES) A28 W2 2Y
1,500+50H+42] 300
O+ZEH (28T 428 7Y
600,000%25 1,200
O4E=H(=8)EE DEAIS 7
50,000+45*42] 800
OxzBR| BE 40 HE
60,000+ 1274 A %23 1,440
000, PH 2F)| =8t H2P4
300,000+35 22 1,800
2 S22l 2,300 2,000 300
OL2=HelAlE &JIe=s 2,300,000 2,300
HAZ S AL 29 3,600 4,000 400
307 lztol & 3,600 4,000 A400
04 CIZHHAMAIRH 2 & 3,600 4,000 2400
OMIAI =2 & &AL 3,600,000+13] 3,600
22 MEfotd SRAIY 26 (M EALY) 4,404,500 9,726,570 N\5,322,070
= 3,854,000
Al 560,500
401 AlZHIZ SO 4,404,500 9,726,570 N5,322,070
== 3,854,000
Al 550,500
01 Al&HI 4,062,000 8,663,000 /4,601,000
O=S=d dHold SAAE 26 SAHl,
Al S(&8) 4,052,000,000& 4,052,000
== 3,552,000
Al 500,000
02 Zeltl 350,000 1,068,570 AT18,570
OZeldl(&e) 350,000,000 360,000
= 300,000
Al 50,000
03 A& S CHYI 2,500 5,000 22,500
OAlESTHBI (& &) 2,500,000 2,500
[ 2,000
Al 500
2 FIRAHI 2EXNFAIE £X 4,157,000 2,655,000 1,502,000
= 4,157,000
401 AIEHIZ SR 0HYI 4,157,000 2,655,000 1,502,000
= 4,157,000
01 A28l 3,840,000 2,345,000 1,495,000
OZe =IRGEA 2ENFAIE £X
3,840,000,000& 3,840,000
= 3,840,000
02 Zeltl 310,000 300,000 10,000




2t
WRs 282 X4
a3 EERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ozl 310,000,000 310,000
= 310,000
03 AlE220HHI 7,000 10,000 23,000
OAIZ20HbI 7,000,000 7,000
= 7,000
o2t 47,000 48,000 21,000
oHef =& 2t 47,000 48,000 21,000
201 2= 38,500 38,500 0
01 At22t2lt] 38,500 38,500 0
OO0 oA E TA =32 24,500
—AE(E3H) 430,000+974 £:#23] 7,740
—oli(E35%) 560,000+974 £:#23] 9,900
— o= (2LEHE =) 135,000%90H A= *43] 4,860
—HR(Z3% 3&5) 250,000+85 2,000
Odffef detedxt= 10,000
—otE L AA dHS =
2,000,000%4 3! * 15 8,000
—oiY SELSEALD S dSHYRE
2,000,000+ 12| %1% 2,000
OxZoie2FAD e & XMel(HIISEX
el & ZHIYXH) 4,000,000 4,000
307 elzto| & 8,500 9,500 21,000
02 2B YAIHE £ 8,500 9,500 21,000
Ootd ot =St 8,500,000 8,500
Hegs(Ezdn) 31,458 0 31,458
WA XIE 31,458 0 31,458
WA XIE 31,458 0 31,458
701 JIEtRI HSHES 31,458 0 31,458
01 It AN ES 31,458 0 31,458
O=ZHd SE3H M&3(0tSct=HelAl
& 2ZH| AlHIRE3) 21,790,000& 21,790
O=ZHd SE3lH MEs(RINHA2Z2 A
el24tl) 9,668,000 9,668




